
 

��
� �� ��������������������� �	
�������
�
����������������
�
��� �
� �
��� �����
������ � ������ ��� � �� �� � �� �� �����
�
���� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

����&'(��)�� 3x − ����������������������������������

�
*������ !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

����&'(��)�� 3x − ����������������������������������

�
+��� 	
�, %�$�-��
��	&�(�!��$%��&
"�$!	"��

�����.�)�
17

3 x−
�
"#�&!"�#/����������������������

0���� %�$�!��$%��.�!"$�
���$�	&�$%��1
��%�	&�

�����$%��&
"�$!	"�.�)�
13 2

7
x

x
+
−

/���������������

2���� 

��	
� ����/��+*�)�3��+*3������������

   
� �� ����������������������� �	
�������
�
              ����
�
��� �
� �
��� ���4�
         � � ������ ��� � �� �� � �� �� ������
�

��5��� !"#�$%��-��
��	&� 3
24 �������������������

�

��6���� 

��	
� ����/��
1

225
−

�)��2�������������
�
��7��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

�������.�)� x ������������������������������������������

�
��8��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

�������.�)�
3

2( 7)x − �����������������������������������

�
���9�� !"#�$%��
�"1��	&�$%��&
"�$!	"�
�������.�)�*(:������������������������������������������

 
� �� ��������������������� �	
�������
 
               ����
�
��� �
� �
��� �����
��������� � ������ ��� � �� �� � �� �� �����
�
������&�&'(��)�(*�;�6(�<��*=�&!"#�&'�2�:�
���������������������������������������������������������
�
�*����&�&'(��)�'(�;�+�'(�;�0�=�&!"#�&'�*�:�
���������������������������������������������������������
�
�+��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

������.�) 5x + :����������������������������������

�
�0��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

������.�)
1

5x +
:����������������������������������

�
�2��� 	
�, %�$�-��
���	&�(�!��$%��&
"�$!	"�

������&'(��)� 2 1
x

x −
�
"#�&!"�#/������������ 

  
� �� ����������������������� �	
�������
 
                ����
�
��� �
� �
��� ��>�
���������� � ������ ��� � �� �� � �� �� �����
�
���5���$�, %�$��	!"$=�?��!#���$%��	
!1!"=�#	�$%��
��������1
��%��	&�.�)�(*��"#�.�)�(+�!"$�
���$/�
����������������������������������������������������������������
���6��� 

��	
� ����/��&�(�!���".������"
� ?�
=�

��������$%�"� 2 25x + �!�����	��������"
� ?�
:�

���������������������������������������������������������������
���7��� !"#�&'2��!&�&'(��)�(*�;�7(�<��2�
��������������������������������������������������������������
�

���8��� !"#�&'2��!&�&'(��)�'(�;�+�'(�;�2��
��������������������������������������������������������������

�
��*9��� 

��	
� ����/���&�(�)��+=��
����������$%�"� 2 7x + �)�3�(����3������������������

 



 

��
� �� ��������������������� �	
�������
�
����������������
�
��� �
� �
��� �*���
������ � ������ ��� � �� �� � �� �� �����
�
���� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

����&'(��)��
2

2

7
25

x
x

+
+

����������������������������������

�
*������ !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

����&'(��)��
2

2

2
25

x
x

−
−

����������������������������������

+���� 

��	
� ����/��&� Rx ∈ ,�$%�"� 2 25x +  
      !����, �.���	�!$!-�: ��������������������������
�
0��� 	
�, %�$�-��
��	&�(�!��$%��&
"�$!	"�

������&'(��)�
2 4

2
x
x

−
−

�
"#�&!"�#/����������������

2����!"�'�6@A5��)�����������������������������������

   
� �� ����������������������� �	
�������
�
              ����
�
��� �
� �
��� �*�4�
         � � ������ ��� � �� �� � �� �� ������
�
��5��� 

��	
� ����/��&�(�B�@A*=�$%�"��
���������!"��*(�B��:���������������������������������������

���
��6���� 

��	
� ����/� siny x= −  !����
�&���$!	"�

�	&�$%���!"��1
��%��?	
$�$%��(��(!�:����������
�
��7��� 	
�, %�$�-��
��	&�(�!��$%��&
"�$!	"�

������&'(��)�
6

sin
x
x
�
"#�&!"�#�!"�$%��!"$�
-����

������C@A*=�+@A*D�/�������������������������������������
�
��8��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

�������� 2( ) 9f x x= −                              ����������

�

���9����	��'+@A*��)����������������������������������
�

 
� �� ��������������������� �	
�������
 
               ����
�
��� �
� �
��� �*���
��������� � ������ ��� � �� �� � �� �� �����
�
������ "�, %�$�!"$�
-���!��$%��&
"�$!	"��

�������� 2( ) 9f x x= −  #�&!"�#/�����������������

�
�*��� !"#�$%��(�!"$�
���$�	&�$%��&
"�$!	"�

�������� 2

7
( )

6 8
x

f x
x x

+=
− +

                    ____________

�
�+��� !"#�$%����	���	&�$%���!"��, %	����
��������E
�$!	"�!��5(�<�+.�)���:����������������
�

�0��� !"#�$%����	���	&�$%���!"��$%�$�1	���
�������$%
	
1%�'6=�*���"#�'��=�9���������������
�
�2���$�"�'+@A0��)��������������������������������� 

  
� �� ����������������������� �	
�������
 
                ����
�
��� �
� �
��� �*�>�
���������� � ������ ��� � �� �� � �� �� �����
�
���5�� !"#�$%��-��
��	&�'�7��A+�������������������
������������������������������������������������������
���6��F 
�$!�����%	!��:�
��������� %�$�!��$%��-��
��	&��0�A*/�
�
�����:���*�������4:��#"���������:��*�������>:����A*�
����������������������������������������������������������������
���7���� 

��	
� ����/��G !-�"�$%�$�.�)��A(=��
���������!&�(�B��99=�.�H�:9������������������������������
�
���8��F 
�$!�����%	!��:��� 	, �#	���$%��1
��%�	&�
��������&'(����6 ��	� ��
��$	�$%��1
��%�	&�&'(�/�
���:����!#��6�
"!$��
��������4:����!#��6�
"!$����&$�
���:����!#��6�
"!$��#	, "����>:����!#��6�
"!$��
!1%$���
��������������������������������������������������������������
��*9�������'*@A+��)���������������������������������



 

��
� �� ��������������������� �	
�������
�
����������������
�
��� �
� �
��� �+���
���������� � ������ ��� � �� �� � >�I �
�
�����!"�'�+@A*�������������������������������������
�
*������$%��&
"�$!	"�&'(��)�5(*���	"��$	�	"��
�����&
"�$!	"/��������������������������������������
�
+��� !"#�$%��!"-�
���	&�$%��&
"�$!	"�
�����&'(��)�(*�<�2=�, %�
��(�J�9��������������
�
0��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

�����
5
4

x
y

x
−=
−

�������������������������������������

2��� !"#�$%��.�!"$�
���$�	&�$%��1
��%�	&�
�����.�)��(�<�2��������������������������������������

   
� �� ����������������������� �	
�������
�
              ����
�
��� �
� �
��� �+�4�
           � � ������ ��� � �� �� � >�I��
�
��5���� 

��	
� ����/���&�&��"#�1��
��"	"K�
	�
��������&
"�$!	"�=�$%�"�&'1'(���)�1'&'(��:�
������������������������������������������������������������

��6����$�%	, �� �".��	!"$��#	�$%��1
��%��	&��
��������.�)�+(+�<����"#�.�)�+(+�<�5 �!"$�
���$/��
�����������������������������������������������������������
��7��� 	
�, %�$�-��
��	&�(�?�$, ��"�@��"#�+@�!��

��������
5

cos 1
x

y
x

=
−

�
"#�&!"�#/���������������

�
��8���� 
!$��$%���E
�$!	"�	&�$%���!"��, !$%���	���
��������6 �$%�$��������$%
	
1%�$%���	!"$�'5=��*�:�
�����������������������������������������������������������

���9��� !� ��!&.L��
( )46

2

x

x
��������������������������

 
� �� ��������������������� �	
�������
 
               ����
�
��� �
� �
��� �+���
����������� � ������ ��� � �� �� � >�I �
�

�����&�&'(��)�
3

2 1
x x
x

−
+

=�&!"#�&'+�:�

���������������������������������������������������������

�
�*�� !"#�&'�+��&	
�$%��&
"�$!	"��?	-�:�
���������������������������������������������������������
�+�����$%��&
"�$!	"�
�&�

�#�$	��?	-���"�
�������-�"�&
"�$!	"=��"�	##�&
"�$!	"=�	
�
������"�!$%�
/�������������������������������������

�
�0�������'*@A+���������������������������������������������������������
�
�2�� !"#�$%��-�
$!������.� �$	$��	&�$%���

�����1
��%�	&�$%��&
"�$!	"�
3

( )
2 1xf x =

−
�

�������������������������������������������������������� 

  
� �� ����������������������� �	
�������
 
                ����
�
��� �
� �
��� +�>�
�������������� ��� � �� ��������� � �>�
�
���5�����$%��&
"�$!	"� 7 52 3 2y x x x= + − + �

���������"��-�"�&
"�$!	"=��"�	##�&
"�$!	"=�	
�
��������"�!$%�
/������������������������������������������
���6�����$%���?	-��&
"�$!	"�	"��$	�	"�/�
���������������������������������������������������������������
���7���&�$%��1
��%�	&�&'(��)�(*�!���%!&$�#�$, 	�
��������
"!$��$	�$%��
!1%$�$	�&	
� �1'(�=�, %�$�
��������, 	
�#�?��$%���E
�$!	"�	&�1'(�/�
��������������������������������������������������������������
�
���8��� 
!$��$%���E
�$!	"�	&�$%���!"��$%
	
1%�
��������$%���	!"$�'�8=�*��$%�$�!����
������$	��
��������*(�;�2.�)��5�����������������������������������
�

��*9��� !� ��!&.L�'(�;�*.�*�;�'(.*�;�.*��
�������������������������������������������������������������

 



��
� �� ��������������������� �	
�������
�
����������������
�
��� �
� �
��� �0���
������ � ������ ��� � �� �� � �� �� �����
�
�����!"�'@A*��������������������
�
*����	��'+@A0�����������������
�
+���$�"�'�@A0������������������
�
0�������'@A+�������������������
�
2���� !� ��!&.L�
������'*(*�+�
���������(�9�������������������������������������

   
� �� ����������������������� �	
�������
�
              ����
�
��� �
� �
��� �0�4�
         � � ������ ��� � �� �� � �� �� ������
�
��� "�� �5�8=�� 	�-��&	
�(=�, %�"�9�M�(�H�*@�
�
��5����	��(�)�9���������������������
�
��6����!"�(�)���A*�����������������
�
��7�������(�)�*��������������������
�
��8���$�"�(��)����������������������
�

���9�� !"#�$%��#	� �!"�	&�.�)� 2

3
5

x
x x−

�

�������������������������������������������������� 

 
� �� ��������������������� �	
�������
 
               ����
�
��� �
� �
��� �0���
��������� � ������ ��� � �� �� � �� �� �����
�
�����$�"�'2@A0�������������������
�
�*����	��'�@�����������������������
�
�+�������'@������������������������
�
�0����!"�'��2@A+�����������������
�
�2���>	���.�)��(+���(��%�-���-�"�	
��
�������	##��.� � �$
./������������������ 

  
� �� ����������������������� �	
�������
 
                ����
�
��� �
� �
��� �0�>�
���������� � ������ ��� � �� �� � �� �� �����
�
��� "�� �5��7=��	�-��&	
�(�, %�"�9�M�(�H�*@:�
�

���5����!"�(�)�
2

2
���������������

�

���6����	��(�)�
3

2
������������������

�
���7�������(�)����������������������
�
���8��� %�$�!��$%��#	� �!"�	&�.�)�$�"�(/�

��������������������������������������������������
�
��*9��� 
!$��$%���E
�$!	"�	&�$%���!"���
�����������$%
	
1%��'8=��0���"#�'���=�2��
�������������������������������������������

 



 

��
� �� ��������������������� �	
�������
�
����������������
�
��� �
� �
��� �2���
������ � ������ ��� � �� �� � �� �� �����
�

���� ( )2

2
lim 3 4
x

x
→

− ��������������

�

*��� ( )
3

lim 2x

x→
��������������������

�
+���

0
lim cos 2
x

x
→

�����������������

�
0��� � �

0
lim
x

x
→

���������������������

�
2���� 
!$��$%���E
�$!	"�	&�$%��-�
$!�����!"��
�$%
	
1%�$%���	!"$�'�5=�7�:�
�
�������������������������������������������������������������������������������

   
� �� ����������������������� �	
�������
�

              ����
�
��� �
� �
��� �2�4�
         � � ������ ��� � �� �� � �� �� ������
�
��5��� !"#�&'0��!&�&'(��)�(�<�2��������������������
�

��6��� !"#�&'0��!&�&'(��)
2 25

5
x
x

−
− ������������������

�

��7�� 	
�, %�$�-��
��	&�(�!��&'(��)�
2 25

5
x
x

−
−

�

������
"#�&!"�#/����������������������������������������
�

��8��� 4
lim
x→

2 25
5

x
x
−
− )��������������������������

�

���9�� 5
lim
x→

2 25
5

x
x
−
− )������������������������� 

 
� �� ��������������������� �	
�������
 
               ����
�
��� �
� �
��� �2���
��������� � ������ ��� � �� �� � �� �� �����
�
�
�

�
�

����� lim ( )
x b

f x
−→

�)�����������������

�

�*��� lim ( )
x b

f x
+→

�)����������������

�

�+���� 

��	
� ����/ lim ( )
x b

f x
→

�#	���"	$��(!�$:�

�

�0��� lim ( )
x c

f x
→

�)�������������

�2���� 

��	
� ����/� lim ( )
x c

f x
−→

�)� lim ( )
x c

f x
+→

�

 

  
� �� ����������������������� �	
�������
 
                ����
�
��� �
� �
��� �2�>�
���������� � ������ ��� � �� �� � �� �� �����
�
���5�����$%��&
"�$!	"�.�)�� �x ��	"$!"
	
���

���������$�(�)�6 :*:������������������������������������������������

���6������&'(��)�
2 3, 2

9 , 2
x x

x x
� + <
� − ≥�

���	"$!"
	
��

����������$�(�)�*/����������������������������������������
�
���7������$%��&
"�$!	"�.�)��x ��*���	"$!"
	
���
����������$�(�)�*�/���������������������������������������
�

��8�����$%��&
"�$!	"�.�)� 2

2
4

x
x

−
−

��	"$!"
	
��

���������$�(�)�*/�������������������������������
�

�*9��� 0
lim
x→

2
2
4

x
x

−
− �)�������������������������

 



 

��
� �� ��������������������� �	
�������
�

����������������
�
��� �
� �
��� �5���
������ � ������ ��� � �� �� � �� �� �����
�

���� 25

5
lim

25x

x
x→−

+ =
+

�������������

�

*��� 25

5
lim

25x

x
x→

+ =
−

��������������

�

+��� 25

5
lim

25x

x
x→

− =
−

��������������

�

0��� 2

5
lim

25x

x
x→∞

− =
−

��������������

�

2���
2

0

25
lim

25x

x
x→

− =
+

��������������������

�

   
� �� ����������������������� �	
�������
�

              ����
�
��� �
� �
��� �5�4�
         � � ������ ��� � �� �� � �� �� ������
�

��5��� 7
lim
x x→∞

= �������������������

�

��6���� 2

1000
lim
x x→−∞

= ��������������

�

��7���
0

7
lim
x x+→

= ��������������������

�

��8���
7

7
lim

7x x→−
=

+
��������������������

�

���9���F 
�$!�����%	!��L�� ( )2

7
lim
x

x−

→
= ���

������:����0������4:��08�������:�� 1
49

������>:��
1

14
��������������

 
� �� ��������������������� �	
�������
 

               ����
�
��� �
� �
��� �5���
��������� � ������ ��� � �� �� � �� �� �����
�

������ 

��	
� ����/���

�������� %��&
"�$!	"�&'(��)�
2 49

7
x
x

+
−

����
	��%����

�������87����(����
	��%���6 :�
�

�*���
10

10
lim
x x→

= �����������

�

�+���
10

lim
x x→∞

= ������������

�

�0���
0

10
lim
x x+→

= ������������

�
�2��� !"#�$%����	���	&����!"����
��"#!�
��
�
�������$	�$%���!"��.�)�5(�;��:������������������
 

  
� �� ����������������������� �	
�������
 

                ����
�
��� �
� �
��� �5�>�
���������� � ������ ��� � �� �� � �� �� �����
�

���5��� %�$�!��$%����	���	&����!"����
��"#!�
��
�
���������$	�$%���!"��+.�<�2(�)��9/�������������
�

���6���
6

6
lim

6x

x
x→

− =
+

�����������

�

���7���� %�$�!��$%��!� �1��	&�$%���	!"$�'�*=�6��
����������, %�"�!$�!��
�&���$�#���
	���$%��(��(!�/�
�������������������������������������������������������������
�

��8��F 
�$!�����%	!��L�� ( )bax = �

��������:� a bx + ������4:� abx ��������:�
bax �����>:� ( )( )a bx x �

��
�*9�� !"#�$%��.�!"$�
���$�	&�$%��&
"�$!	"�
��������1'(��)�2��	��*(��������������������������������

 



�
� �� ��������������������� �	
�������
�

����������������
�
��� �
� �
��� �6���
���������� � ������ ��� � �� �� � >�I��
�

���� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

�����&'(��)
7

2x +
����������������������������������������������������

�

*���>	���$%��1
��%�	&�.�)
2 9

3
x
x

−
−

�%�-����%	���

�����	
��"���.� �$	$���$�(�)�+/�������������������������������
�

+���>	���$%��1
��%�	&�.�)
2 9

4
x
x

−
−

�%�-����%	���

�����	
��"���.� �$	$���$�(�)�0/�������������������������������
�

0���� 

��	
� ����/��� %��&
"�$!	"�.�)
2 1
2

x
x
+

�!��

������
"#�&!"�#�, %�"�(�)���A*:��������������������������������
�

2����&� 2 6(3 2)y x= − , &!"#�.N:��������������������
�

   
� �� ����������������������� �	
�������
�

              ����
�
��� �
� �
��� �6�4�
          � � ������ ��� � �� �� � >�I���
�

��5���
2

0

5
lim

6x

x
x→

= ������������������

�
�

��6����
2

20

5
lim

6x

x
x→

= ������������������

�
�

��7���
2

2

5
lim

6x

x
x→∞

= �������������������

�
�

��8���
2

5

5
lim

6x

x
x→∞

= ������������������

�

���9����&� 3 2

5
( 2 )

y
x x

=
−

, &!"#�.N:������������������

 
� �� ��������������������� �	
�������
 

               ����
�
��� �
� �
��� �6���
����������� � ������ ��� � �� �� � >�I��
�

�����
4

lim sin
x

x
π→

= �����������

�

�

�*���
0

lim tan
x

x
→

= �������������
�
�

�+���
2

lim cos
x

x
π−→

= ������������

�
�

�0���
0

1
lim

sinx x→
= ������������

�
�

�2����&� 4( ) 3cos (5 )f x x= − , find� '( )f x �

���������������������������������������������������������
 

  
� �� ����������������������� �	
�������
 

                ����
�
��� �
� �
��� �6�>�
�� � � �I� � � �� ��78�� � >�I����	
"#�$	�+�#��!� ���������:�

�

����������$��&'(��) 1/

1
1 2 x−−

�

�

���5��� !"#� lim ( )
x

f x
→∞

= �������������
��
�

���6��� !"#� lim ( )
x

f x
→−∞

= ������������
�
�

���7��� !"#�
0

lim ( )
x

f x
−→

= �������������
�

�

��8��� !"#�
0

lim ( )
x

f x
+→

= �������������
��
�

�*9��� !"#� '(1)f �������������������

�

 



 

�
� �� ��������������������� �	
�������
�

����������������
�
��� �
� �
��� �7���
���������� � ������ ��� � �� �� � >�I��
�

�����&�
�)�+(0=�&!"#�
du
dx

������������������������

�

*����&�-�)�2(+=�&!"#��
dv
dx

�����������������������

�

+���F 
�$!��.�
�O�-=��"#��!� ��!&.�!$:��
����������$%���
	#
�$�.:������������.�)���������
�

0��� !"#�
dy
dx

�����������������������������������������

�

2���F 
�$!��.�
du
dx

��"#
dv
dx

�&
	� �� ����"#�� �*:�

��������!$�$

��$%�$�'
-�P�)�'
P�'-P�/����������

�����

   
� �� ����������������������� �	
�������
�

              ����
�
��� �
� �
��� �7�4�
          � � ������ ��� � �� �� � >�I���
�

��5����&�
�)�5(2=�&!"#� du
dx

������������������������

�

��6�����&�-�)�+(+=�&!"#� dv
dx

����������������������

�

��7���� !"#�
u
v
=��"#��!� ��!&.�!$:�

�������������$%��E
	$!�"$�.:�����������.�)����������
�

��8���� !"#�� dy
dx
����������������������������������

�

���9������!$�$

��$%�$� u u
v v

′ ′� � =� � ′� 	
/������������ 

 
� �� ��������������������� �	
�������
 

               ����
�
��� �
� �
��� �7���
����������� � ������ ��� � �� �� � >�I��
�

������ %�
��#	���$%��1
��%�.�)
2 36

6
x
x

−
+

�%�-���

���������%	��/�����������������������������������������
�

�*���� 
!$��$%���E
�$!	"�	&�$%��$�"1�"$��!"��
�������$	�.�)�(+�;�0(��$�$%���	!"$�'�=��+�:�
����������������������������������������������������������
�

�+��� !"#�$%����	���	&�$%��$�"1�"$��!"��$	�
�������.�)�*(0�<�(�;���, %�
��(�)�*���������������
�

�0��� !"#�$%����	���	&����!"��, %!�%�!��
���������
������$	�$%���!"��*.�)�6(���5 ���������
�
�

�2��� !"#�$%��.�!"$�
���$�	&�$%��1
��%�	&�
�������&'(��)�+(2�<�(0�;�*(+��6(�<�5������������
 

  
� �� ����������������������� �	
�������
 

                ����
�
��� �
� �
��� �7�>�
��� � � �I� � � �� ��78�� � >�I����	
"#�$	�+�#��!� ���������:�

�

��G !-�"�&'(��)� 2

4
1xe −
�

�

���5��� !"#��
0

lim ( )
x

f x
+→

���������������������
��
�

���6��� !"#�� lim ( )
x

f x
→−∞

���������������������
�
�

���7��� !"#��&�'�"�*������������������������
�

�

��8��� !"#��&�P�'�"�*�����������������������
��
�

�*9��� !"#��&�PP�'�"�*��������������������������
�

 



 

�
� �� ��������������������� �	
�������
�

����������������
�
��� �
� �
��� �8���
���������� � ������ ��� � �� �� � >�I��
�

���� !"#�
dy
dx

�!&� y = 5 5
6x

x
− ������������������

�

*��� !"#�
dy
dx

�!&� y = 47 3x x− + �������������

�

+��� !"#�
dy
dx

�!&� y = x �����������������������

�

0��� !"#�
dy
dx

�!&� 54y x= ������������������������

�

2���� %�$�!��$%��-�
$!������.� �$	$��	&�$%��

�����&
"�$!	"�
17

( )
4
x

g x
x

−=
−

�/��������������������

�����

   
� �� ����������������������� �	
�������
�

              ����
�
��� �
� �
��� �8�4�
          � � ������ ��� � �� �� � >�I���
�

��5��� !"#�.�P�!&� 4 2(7 1)y x x= − �������������������
�

��6���� !"#�.�P�!&�
25 2x

y
x
−= �������������������������������������

�

�

��7���� !"#�.�P�!&� 800y x= ���������������������������
�
�

��8���� !"#�.�P�!&� 732y = ������������������������������
�
���9��� %��1
��%�	&�&'(�<�0��!����$
�"���$!	"�	&�
��������$%��1
��%�	&�&'(��0�
"!$��!"�, %!�%��
��������#!
��$!	"/����������������������������������������
 

 
� �� ��������������������� �	
�������
 

               ����
�
��� �
� �
��� �8���
����������� � ������ ��� � �� �� � >�I��
�

����� !"#�
dy
dx

�!&� y =
26
3

x
x −

�����������������������

�

�*��� !"#�
dy
dx

�!&� y = 5

9
x

�������������������������

�

�+��� !"#�
dy
dx

�!&� y = 2 4(6 9)x − ����������������

�

�0��� !"#�
dy
dx

�!&� y = 2
3

1

x
� �����������������������

�

�2�� !"#�$%����	���	&�$%���

-���
������ 3 7 2y x x= − − �, %�
��(�)��*���������������

 

  
� �� ����������������������� �	
�������
 

                ����
�
��� �
� �
��� �8�>�
��� � � �I� � � �� ��78�� � >�I����	
"#�$	�+�#��!� ���������:�

�

���5���� 

��	
� ����/�� 	
�����(=��

���������� 12 73 19 5x x− − > − ���������������������
��
���6��� !"#�$%��#	� �!"�	&�$%��&
"�$!	"�

���������
2

2

25
4

x
y

x
−=
−

����������������������������

�
���7��� !"#� (0)f ′ �!&� 2( ) 6 xf x e= �����������������
�

��8��� !"#��
0

cos
lim

x

x
x→

������������������������������

��
��*9��� !"#�$%����	���	&�$%���

-���
������ xy xe= �, %�
��(�)�����������������������������

�

 



��
� �� ��������������������� �	
�������
�

����������������
�
��� �
� �
��� ��9���
���������� � ������ ��� � �� �� � >�I��
�

���� !"#�
dy
dx

�!&� y = 9 5x − ��������������������

�

*��� !"#�
dy
dx

�!&� y = 59x �����������������������

�

+��� !"#�
dy
dx

�!&� y = 9
5
x

�����������������������

�

0��� !"#�
dy
dx

�!&� 5 9y x= ������������������������

�

2���� %�$�!��$%��#	� �!"�	&�$%��&
"�$!	"�
������ xy e= /������������������������������������������

�����

   
� �� ����������������������� �	
�������
�

              ����
�
��� �
� �
��� ��9�4�
          � � ������ ��� � �� �� � >�I���
�

��5��� !"#�.�P�!&� 4y x= �������������������������������
��

��6���� !"#�.�P�!&� 4xy e= �������������������������������������������
�
�

��7���� !"#�.�P�!&� 4y e= �������������������������������
�
�

��8���� !"#�.�P�!&� 4 xy x e= ⋅ ���������������������������
�
���9���� %�$�!��$%��.�!"$�
���$�	&�$%��1
��%��
���������	&��� xy e= /���������������������������������������

 

 
� �� ��������������������� �	
�������
 

               ����
�
��� �
� �
��� ��9���
����������� � ������ ��� � �� �� � >�I��
�

����� !"#�
dy
dx

�!&� y = cos 2x ��������������������

�

�*��� !"#�
dy
dx

�!&� y = ( )tan 2x + �������������

�

�+��� !"#�
dy
dx

�!&� y = sinxe x �����������������

�

�0��� !"#�
dy
dx

�!&� y =
cos

x
x
� ��������������������

�

�2��� 
!$��$%���E
�$!	"�	&�$%��$�"1�"$��!"��

������$	�$%���

-��� sin 2y x= ��$� 2x π−= �

                                               ____________ 

  
� �� ����������������������� �	
�������
 

                ����
�
��� �
� �
��� ��9�>�
������������� � ������ ��� � �� �� � >�I��
�

��5��� !"#� 4log 8 �����������������������������������������
��
��6��� !"#� 25

1log 5 �����������������������������������

�
��7���� 	�-�L� 22 8x x+ −= ��������������������� ��������
�
�
�

��8��� 	�-�L�� 3log (2 1) 4x − = �����������������������

��
�
�

��*9���� %�$�!��$%��#	� �!"�	& lny x= /�

���������������������������������������������������������������
�

 


